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Analysis Skills

Read the following passage and answer the questions :

Do you ever worry about your memory? Perhaps you go into a room and forget what you
came for, or may be something on the tip of your tongue, but you can’t get it off. Don’t
worry. You are perfectly normal. It is the nature of the mind to forget — and the nature
of man to worry about forgetfulness.

Human beings have a prodigious memory. In a few cubic centimeters the brain stores
more information that can be stored in a large computer. Today neurologists,
psychologists and biologists are studying the different aspects of memory.

There are two types of memory. Short-term memory lasts only for seconds you look up a
telephone number and remember it long enough to dial. Long-term memory is stored
probably for life.

(1) Give two instances of forgetfulness

(11) How much information can the brain store?
(111) What are the two types of memory?

(iv) Give an instance of short-term memory.

(v) Human beings have a ——————— memory.
Read the passage and answer by choosing the right answer :

The students were asked to offer an explanation about why they had been absent. One
said that he had an attack of headache and therefore could not come to school. He was
asked to bring a medical certificate. The second one said that some-one had told him
that there was no school, so he had gone back home. The head master replied that if he
was going to listen to every loafer who said there would be no school, be deserved to be
flogged. The punishment was pronounced-ten days attendance cancelled, two rupees
fine, and the whole day to be spent on the desk.

(1) What were the students being questioned about?
(1) to explain
(2) for being absent
(3) for attendance

(4) about fine.



(a)

(b)

(0

(i1)

(iii)

iv)

™)

The first student was asked to bring

(1) two rupees

(2) medical certificate

(38) attendance

(4) desk

The second student deserved to be flogged because he listened to
(1) all students

(2) every loafer

(3) headmaster

(4) teacher

What punishment was given to the student?

(1) ten days attendance cancelled

(2) two rupees fine

(3) whole day on the desk

(4) all the above

The author wants to show that

(1) students often fall i1l

(2) students make up all sorts of excuses to explain their absence from school
(38) students are punished by teachers, unnecessarily

(4) students play in the ground.

Correct the following sentences :

@)
(ii)
(111)
@iv)
W)

Each boy and each girl get a turn.
One should mind his tongue.

Justice as well as compassion allow it.
The furniture are new in this house.

The economics is a difficult subject.

Rewrite as directed :

@)
(i1)
(iii)
iv)
)

I will convince him. (change the voice)

Whoever is honest is respected. (change into a simple sentence)
Madras is one of the biggest cities in India. (change to positive degree)
He said to me ‘T am happy to be married’. (change into Indirect speech)

My father was an engineer. (Add a question tag)

Change into direct speech :

(@)
(i1)

He told me that the earth is round.

He asked me how my father was.



(d)

(e)

(®

(8

(h)

@

Fill in the blanks with correct forms of the verbs in the brackets :

(1) One of my teachers ———— (belong) to my village.

(11) These scissors ——— (be) not sharp.

(111) His uncle and aunt —————— (have) a house in the town.
(iv) They shall —————— (do) the job.

(v) The director —————— (live) in a large bungalow.

Fill in the blanks with suitable words given at the end :

(1) The girl ——— with perfect truthfulness.
(11) I—————— Milton to my great benefit.

(111) Marlowe was a ——————— of great promise.
(iv) She ——————— me with a smile.

(v)  She ————— reading a book.

(replied, enjoys, writer, greeted, read)

Rewrite the following set of jumbled sentences to a coherent passage :
(1) One day it was very thirsty and was searching for water.

(11) At last it found a pot and water in it.

(111) There was a crow living in a tall and shady tree.

(1v) It had sufficient food to eat and water to drink.

(v)  But rains failed and it was difficult to find water.

Write three exchanges between a customer and a sales girl showing garments of
different varieties.

Write a paragraph using the following hints :

Science affects lives — applications varied — influences opinions — dispels superstitions —
leads to control on nature — develops logical unbiased thinking.

Write in about 100 words :
(1) Internet — boon or bane
(11) Environment pollution

(111) Physical activity in present day world.
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(Descriptive Skills)

1. Write an essay:

(a) Narrate in brief the ‘neighbours’ reactions to the news about the cobra in ‘A Snake in
the Grass’.

(b) Give a character sketch of Dorothy clandon.

(¢0  What advice does Bronowski give to the layman about Science?

2.  Write short notes:
(a) Who according to John Milton leads him to his destiny?
(b) What is Edmund Waller’s opinion about women?
(¢) How does the train symbolise the progress of mankind in ‘The Express’.

(d) How, according to John Masefield, can the world be made better in ‘Laugh and
Be Merry’?

(e) Why 1s it difficult to kill a tree according to Gieve Patel?

3. Write an essay:
(a) Describe the life of refugees as described by Pearl Buck.
(b) Why did Mrs. Sappleton keep the window open in “The Open Window'?
(¢) Bring out the irony in ‘The Fortune - Teller’.

4. (a) Explain:
(1)  “T'll buy you another gold watch”.
(11) “I take up my task in buoyancy and hope”.
(111)) ‘You are well enough I hope now and will be quite fit soon’.
(b) Explain:
(1) How small a part of time they share.

(11) Laugh till the game is played : and be you merry, my friends.
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(a) RoBese JHPB8HoK) dIrEen DIr8e3E08 JoPdH
98 G300 Eer JRe0 BBV DIBEE 57K
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& — o
()  HE gL 20EHONOER DESOHNS HEESHE
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(b)  SPER TEFIL TP HB oo By
(© %D 8ROBEE” DT SHe M0tk Hidogs

(d)  EBRE[0K OBV HOT) DB DKHS

es — o
(a) JIEIED DSE S
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(©) B RS 0P ey

(d)  ($50DI0HE HdB0 ePTY FHYB



3. &0 808 708 TGIBITD FHTTHERIH [FPoK0D.
& — o
(2) BEN BHHS’D HBBDDO IHBoVoE.
(b) BB DEE0EH0D 09BN SBODD HEHVRO DHBOYHIW.
es — o
(a) BSOS 52 5055°R)) 010,88 D@0V DEFHV) HBoYHH.
(b) 5D erey (Bsotn H580Hw.
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1. & S08 T°08 JSHTGORNHN (T°O50[0.
& — o
() MoSeres oo e So &% 8D 9580HBw.
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es — o
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(a) dERX
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1. (a) Explain in brief the Glory of Kavya of Valmiki.
FTeHich: HEAGTH G forad|
(b) Explain the qualities of scholars as prescribed in ViduraNeeti not exceeding 300 words.

fagedt sfaurfeaien afreaaaonty 300 firdy vey fogua?

2. (a) Describe the words of companion of Parvathi with celebrity.

e well Sfed fd frgars ot
(b) Write the story of Jarssfia=H|
Talssflad FHraEaH foed|
3. (a) Describe the six seasons as prescribed in the Text.
TSI W&, v |
(b) Write the story of Wise Rabit.
=L IRT: 3 el forEd|
4. Answer the following with reference to context.
Ty el
(a) TR gEawd AR
(b) oo fe femfea =
(¢) e SrEwg=ad|
(d) Tguf w=ar=med Terenm |
(e) Tiv@, WIS Jogawd: |
(H  afresfafs gaed fafg sameEm)
(g) Toporfordayag qen ke Jom)
(h) gegEn & ae: e
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1. Translate into English or Telugu.

HHHTST o1 TG d1 S|

(a) I FA T TH T a1 "=, R
FAHA Tl @ o ufved 3=ad ||

(b) Tcas: FEAAMI AT : HeAHHOTH |
U AT W ufved 3= ||

(c) TRIIH A F: HHIAFH TS|
e = Al giE g HeaauH| |

(d) ef $wa i fird g feafea =1
FH A G TG |

2. (a) Write the forms in the other numbers of given persons :

TNy G1g T forerd |
(@) g (i) T
(iii) wuTEAfd (v) ITIFIq
(v) H¥9d(vi) e
(vii) T (viii) a=¢

(b) Decline as per the case ending.
Tafgury sregeuTfor fored|
@ = (i) s
(i) f= (iv) |
(V) ™ (vi) @R
(vii) el (viii) el



(¢)  Combine SANDHI'S.

e
O TH+AE: () HE o+
(iii) 3fd + 3E: (iv) o + 37
(v) @+ e (vi) W2+ Hg@:
(vi)) : + Toq (viii) @ + o

(d) Dissolve.

[EEEEICRIERTICR]

() wwem (i) TG
(i) FAqw (iv) dmEYER
(v) Hiamfa: (Vi) A=Y

(vii) Hrefteaemy (viii) Fgam
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1. weed Hied saTEar i
(a) e shi gin o EEeTd e Afe Hig € @ e 8@ Tk e % AT ||
(b) At Fit T A8 1 AW faeey B S Al Sl A 2, 9 SAtE g R v e oft B
() whidl =1 G WIST 01 - STl o1 Gl & IHeh TIY heul hl o) F&d 8|
(d) TS T F AAAS A7 A9 TI-FS hl B ¢N| W H TS o T8 SIS arean o
(e) hferer sfit wanyfar ot wrqul wea Wikt areq €, 9% forelt wew bt Smter 7|
2. T3 o1 Wi ferdiwaredt wfed fefaw)
() Afafen
(b) WS SR AT

3. T3 1 A et wfea fafeu)
(a) A9 0 AT UG ?
(b) & fEt

4. FEr 1 AR foRwareT wfeq fafew)
(a) 3T a1
(b) gEERI

5. (a) TgaTes i ikl & T yeaweeh o 99 W 9 foafan

(b) Uk Geg H gt & faw § TwdrforeRt & st 6t ux fafau)



ASSIGNMENT-2
B.A/B.Com./B.Sc./B.HM./B.B.A./B.B.M. DEGREE EXAMINATION, JUNE-2022

.First Year

HINDI PAPER — I (NR)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. g1 1 STane <& gfhal § fafag)

(a)
(b)
(©
(d)

“Teie” @ =i e fifse

ST HT FIAT | FEHI B A 3T E

‘Ut et 1 e T Ao W R grfer)
‘o’ R = tE fe fif

2. " YAl o I foren Afad 21

(a)
(b)
(©
(d)
(e)
(®)
(2
(h)
@)
0)

i et foreq &1 (o’ semeR fafa)
g1 IR Tl &l (e e o)

3G 3 WH| (JT=d Sede fafau)
Tg, e Teat 7| (wlosy et # forftaw)
Hrgd uTs for@dr 21 (drchifetsh IdaMSA § agferd)
# 78 =eran| (ar=a Jeae fafaw)

FAST FTed! ¥ A 1 (g Aif)

} W S 2 (Yg Ffw)

AT 9T Ut | (TR # fafau))
(Document) 39 ez &1 319 fedt & fafam

3. eai o1 37 fe=dt o foqge arr § e Hifsg)

(a)
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(©
(d)
(e)

B |
HAHTTHR
g

T - eI |

T
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1. Economic activities.

es88 s%%éo@voo.
@

2. Consumer equilibrium.
DIAIHEEIR BSH0S O5B.

3. Demand function.
GAT0E Hoo.

4. Perfectly inelastic demand.
I8 S D G0

5. Production function.

& Hoo.
6. Law of returns to scale.
BHEIBI0IB0D 1.

7. Balance of Trade.
Blel BRHA0.

8. Kinked demand curve.
208 &aroc 3.

9. Difference between Micro and Macro Economics.
Regg 208050 Brre ewTysn Sogy Been.
10. “All direct costs are variable and all indirect costs are fixed” Comment.
“eoR)) (3B Sg0ren B Sgasren B0 @) S8 Sgasren I H5osren” — A0S
(DBCO11)
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BUSINESS ECONOMICS
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ANSWER ALL QUESTIONS

. What is monopoly and explain price and output determination under monopoly.
DERGR0 BIMTRA? IEG50S” G58 580K &8 DALY DHBoWos.

Explain the measurement methods of National Income.
FHAT TSR B0 Dw DB S 8809 St SLN 95B0D0&.

. Define Business cycles and Explain various phases of Business cycle.
TGS BEPOHMTIQ? B0 G J5°e TGS DE°O SBO DHB0DOG.

Explain the law of diminishing marginal utility and exceptions to it.
§65%r0t (SBIeesd 37°(@°R) DHB0Y LB VIO B)Os:.

Explain the shape of cost curves of a firm in the short and long run.
B0g BY); JgeseOE, BES Y H0BPe 5B Beyod.
® ad

Explain the price and output determination under perfect competition.
I8J°¢ 2563 E&I"Bbegés B8 D08Af &8)d DS dH5BoVo.

. Discuss the role of WTO in promoting international trade.

SOBTADH T8 wDHAS® WTO Bood), (B0 580050

Explain the marginal productivity theory and modern theory of rent.
&0 GTHSET ﬁ)zgow:{)& DHB0H0E H0B8A0 e380DE el ﬁ)zgow:o& DHB0H0E.




10.

ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, JUNE 2022

First Year FINANCIAL ACCOUNTING -1
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Cash Discount and Trade Discount
DK G 080, DEEY) G060
Objects of Trial Balance

©OEET GLTFO0

Need for Bank Reconciliation Statement
20> DOLE SHONIAD H63 essgsed
Accommodation Bills

K)dé)arem DR

Errors of principles

?ozgoé 8@1’566@@@3

Methods of providing depreciation
BEHBOR DGR Sdoen

Capital and Revenue Expenditure
0T, Te6 Sgado

Features of consignment

EQ RRODI0LN OFET.

What are the advantages and limitation of financial accounting?

PIQANS ©F°0e30R (AT ETeR BB Be)od.

Journalise the following transactions

2020 March 1  Commenced Business with cash Rs. 20,000

2  Deposited Rs. 15,000 in Bank

5  Purchased goods from Mukund Rs. 5,000
10  Sold goods to Kiran Rs. 15,000
12 Sold goods to Murali Rs. 18,000

13  Returned goods to Mukund 2000

(DBCO12)

14  Paid Mukund by cheque Rs. 2,800 in full settlement of his account

15  Cash received from Murali Rs. 15,000

20  Purchased furniture Rs. 4,000



25  Paid salaries by cheque Rs. 3,500

1808 DT O DEFHEO [F000E.
Q

2020 5378y  DReO°RY) 20,000 HHEE® Fr00DI0EIE
1

2 arofH S° GaredeS BHB 8. 15,000

5 B0%08 2008 57 StHen 8. 5,000
10 8565% @230 56%He0 85°. 15,000
127 50089 eagd 565 8. 18,000
13 505055 T80 DS S &3°. 2,000

14 5005008 £ 209 D0 I0TR8 F°8 $583x), 8o D), T°0° DYoDHE 8.
2,800

15 5089 B00@ Hayd SKeH 8. 15,000
20 58y98 S0R%0 8o°. 4,000

25 2%, oegor 3o Bren 8. 3,500



(DBCO12)
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ANSWER ALL QUESTIONS

1. Arun sold goods to Bhanu for Rs. 25,000 and drew a 3 months bill for the same on
Bhanu who accepted in. The bill is discounted at Bank for Rs. 24,800. On due date
Bhanu could not honour the bill and requested for renewal with an interest of Rs.
200 for another period of
2 months and Arun agreed for the same. On due date, the new bill is honoured.

Pass journal entries in the books of Arun.

eSH 25,000 © SHEO[ P eaémé es E)Joigc‘()g 3 QDo 25’)03;63 (PSRN STALRALNY
©oREB0DI0GT R & Den 24,800 0¥ o 5¢ GR7,065 BAOKTHE KT
g0 D) B0 Yo B HDDETER (VBT ). @O 8° 2 deeH 2000 HGE*
§°% DO @O gr e90REBODTTE) KO § Doy el @o8. 980
DI0E” DePHEOD EPAHOG.

2. Mr. X took a lease of land for Rs. 20,000 for 4 years. He charged depreciation by
annuity method presuming the rate of interest at 6% p.a. The annuity tables show

that the annual amount necessary to write off Re. 1 in 4 years at 6% p.a. is
0.288591. Prepare Lease account.

X 870 #7200 4 Joil & 20,000 0% T8 SR80 TPE SES (550 Joid 6% HGO
PRI HEOHEOL IGHBITEOE DYoN0DTE. T°PE 563 Ko (55°80 1 i 4 Jon 0S° 6%
HEE® BESTEDE"RY (98 Jon 0.288591 eS80 T FrErdd HAD BAoE.

3. Distinguish between Provisions and Reserves. What are different types of reserves?
D260, Bestiygen Doy Mo BEBI? DI 850 BassD.

4. Enter the following transactions in a Three Column Cash Book.
2020 Jan. 1  Cash in hand Rs. 410 Balance at Bank Rs. 8,920

2  Cash sales Rs. 4,500

3  Paid into Bank Rs. 4,000



2020 Jan. 5  Purchased stationary Rs. 100
8 Paid Mahesh by cheque Rs. 280
Discount Received Rs. 20
12 Gave a cheque for cash purchases Rs. 1,500
15 Drew from Bank for personal use Rs. 500

18 Received cheque from Suresh for Rs. 1,970 in full
settlement of account of Rs. 2,000

20 Drew from Bank Rs. 1,000
21 Paid Wages Rs. 100
25  Bank returns Suresh’s cheque as dishnoured

31 Bank charges as per pass book Rs. 10

1808 HgHFFT R0 DI DE[O DR DVES® 53T Dabod.

2020 @998 . 1 IS’ 9K 8re. 410 eroH deg 8. 8,920
2 K edystes 8. 4,500
3 aroH&® B2 8. 4,000
5 5B S0R’en . 100
8 20WBE DL, Tgoe DY, 280 BAY G060 20
120 3Kes STRof o0 B350, Tegoe Do) 8. 1,500
15 208 én@romd8 argo @0 SR 8. 500
18 3582 %0 o903 8. 2,000 er8 Somgdo DB . 1,970 D), HOY08
20 argot %008 BIHE 8. 1,000
21 38095 dearown 8. 100

25 Q0B D), STETES @00 THPHO



31 2% H¥o 55750 argoH Pnen 8. 10

5. From the following balances of Srinivas prepare final accounts as on 315t December
2019.

Rs. Rs.

Stock on 1.1.2019 96,000 Returns inwards 1,000
Wages 28,000 Sundry debtors 35,000
Salaries 4,000 Office expenses 5,000
Railway freight 5,000 Income Tax 500
Purchases 1,20,000 Drawings 6,500
Interest on overdraft 200 Capital 50,000
Bills Receivable 6,000 Bills Payable 5,000
Rent 2,000 Bank Loan 4,000
Plant and Machinery 20,000 Sales 2,50,000
Travelling expenses 5,000 Reserve for Bad debts 5,000
Repairs to plant 1,600 Discount on purchases 4,000
Cash in hand 5,600 Sundry creditor 23,300
Cash at bank 1,800 Returns outwards 1,500
Buildings 5,000

Adjustments :

(a) Stock on 31t Dec. 2019 was Rs. 35,000

(b) Write off Rs. 3,000 bad debts and maintain a reserve of 5% on Debtors

(¢) Depreciate plant and Machinery at 10%

(d) Allow interest on capital at 5% per annum

(e) Wages and salaries are unpaid to the extent of Rs. 1,500 and Rs. 450 and
Rent unpaid Rs. 400.

31.12.2019 7063 3o Gk, (808 DH0°0 500G H0R0Y) BEO AT DaAos.

& &
1.1.2019 35% dog 96,000 o35 esioen 1,000

DHTeeD 28,000 g9 200083(/{0e0 35,000



Seoon 4,000 esdig gpesnyen 5,000

385 2 5,000 esgeas> S 500
§°0R% 1,20,000  zeosaeesseen 6,500
895 [ 2 & 200 Saredsiso 50,000
BRIV Denen 6,000 390 Deeo 5,000
ST 2,000 QPFOL WE0 4,000
706 AHOETRY 20,000 @Bysmed 2,50,000
[S08es N0 5,000 mogerie 98 5,000
0820 B08HPBHIL 1,600 gm00R®e0 3 &am 06w 4,000
3S® SK 5,600 2965 a0eamden 23,300
eT0ES® DO 1,800 509% aescoen 1,500
ATV 5,000
édé)arw‘g) :

(a)

(b)

©

(d)

(e)

31-12-2019 % 3% deg &°. 35,000

orRer§e0 8°. 3,000 SEI5ED avea|iiue 206 Toder8e DER 5% &oBHB.
0000 AHOEPO P 10% BHMHSOR IGEDHB

2000 06 5% D6 O B, KB

BYoHdeRD DT , Beren W &, 1,500 2805 &5, 450 DYod Sod @R
&5°. 400.



6. From the following particulars of a merchant prepare Bank Reconciliation
statement as on 31t December 2019.

(a) Cheques issued for Rs. 7,000 on Dec. 26 of which cheques worth Rs. 3,000
only had been encashed upto 315t December 2019.

(b) Cheques amounting to Rs. 8,500 had been deposited into bank for collection
on Dec. 28t of which Rs. 8,000 cheques have been credited in the pass book
on January 4t 2020.

(¢) Bank charged Rs. 500 interest on overdraft not recorded in cash book before
Dec. 31, 2019.

(d) A direct payment of Rs. 1,500 and interest on investments Rs. 2,000 were
recorded in only pass book but not formed in cash book.

(e) Credit side of cash book bank column was cast short by Rs. 1,000.
(®  Overdraft Balance as per pass book on 315t December 2019 was Rs. 18,000.

a8 Iogrd Qo) 1808 ddore Mok 31.12.2019 7 ergoRd Dege DRI K)éé&)
HOIT°E BAHod.

(@) &soah 26 H &b DD 7,000 © oS 31.12.2019 & 3,000 Dy en
ATEB0 D1 DOoHRI G,

(b) GBowtd 28 B HIrew dWBO WEHS® G D 8500 © DS 8000
DE,00 WIDB 4, 2020 D 0 HIFoS® B&ed anTOw .

(© &35 @y P 9% 500 aroH 0 HIFoS® @Rmr dtoadh 31,2019 & S
DRVES® $ATE 5oB.

(d) S wrEHS® 3YodH wéEH 1500 Deycoe P 5@ 2000 0 HVES® 5D
@0 DK HIE0S® EdeEBd

() K HIKS® BBES P ergH 9D 1000 BEYH L@

() &%oaxdd 31.2019 % 0 Xg)g)ngoeS‘s Hs°80 £:58 (&) g 18.000.

7. Sathish of Srikakulam consigned 2,000 cases to Vijay of Vijayawada costing 300 each
at proforma invoice price of Rs. 350 each. Sathish paid freight Rs. 10,000. During
Transit
200 cases were totally damaged and insurance claim received Rs. 15,000. Vijay
took delivery of the remaining cases and paid Rs. 30,000 toward cleaning charges
to godown. Vijay has sent a bank draft for Rs. 15,000 as advance to Sathish. Vijay
sold 1,600 cases at
Rs. 440 each and spent Rs. 10,000 selling expenses and allowed him a commission
of 10% on sales. He settled his account by sending a demand draft to the balance
amount. Show ledger account in the books of Sathish.



5eK80E°0 HBH 2000 T30 S ESPID060 Boes deANTGE"D deschd 257563
300 © B8 Ko BTN ¢S 350 ™ @R Sodmred IS P& 10,000 dodTred
277835¢3508° 200 Tdoew S 27 HIrZH 15,000 D3B38 20RAD Toemd ek
A8 Rgoﬂg 36{)&?&% §o53805 &0 30,000 E)e‘?)o&mcb 20T DAYO 230D
15,000 2r0o% (@) IBALH H0d 1600 Tooky 28753 440 o @Ay @Hyso
P&Hev 10,000 3(’20&&?6& %08 ea‘més"e) S 10% DD 0BT 588
0HIAAD DTS (TP Do BB IBY,B0 BITC. AN DS ST LTV
BIrH06.

8. Raju and Ramesh entered into Joint Venture to construct a building for 3,00,000. A
Joint Bank Account was opened in which Raju contributed Rs. 1,00,000 and
Ramesh contributed Rs. 50,000. Profits and losses were to be shared in the ratio of
2:1. Other details: wages paid Rs. 80,000, Materials Rs. 1,60,000, Materials
supplied by Raju Rs. 10,000 and Ramesh

Rs. 8,000. Contract was completed and contract amount was received. The unused
material was valued at Rs. 10,000 which was taken by Ramesh.

Prepare necessary ledger accounts.

oree, S0N Eable méavdoé‘s 58 &5pi 2.8 gdmeR) 3,00,000 dHoNERE ayodso
BEOENNTY. GIYEM™ 28 erHd PEPRd [PeSoRod @otd oree 1,00,000 Do
50,000 &S DI, erasdapoto 21 DHBS° Sotoerd aBs DsTen (808
Do &IHoN ?;Sego&:é DHoren 80,000 IR Dewd 1,60,000 oree 10,000 D0
R BI0X 8000 oD AR IEST> DI SPoEry H°8 ST SPoryy oo
DAPGH8. &IBIeRoN0TE® &’Dﬂ@oﬁbo?é& R 10,000 o8 de0d §%§ Edoa, @mgoa)";ldé.)

BIIEN LT PTO BHATEHDODHOE.




(DBCO13)
ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, JUNE 2022.

First Year INDUSTRIAL ORGANISATION AND MANAGEMENT
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

1. Classification of industry.
SBER HBSes

2. Features of cooperatives.
Q5 0RO OFEIVVL

3. Measurement of size of a firm.
X)oé) S3BHI°e30 P00

4. Privatisation.
EELECE

5. Working capital source of finance.
DEEIEd DOTOESH0 eagg DA

6. Small Scale Industry (SSI).
DY) BES® SB35

7. Administration.

BOD

8. Authority and power.
©B5°8500 5085w B8,
9. Aids to trade.
DBE HeE000H000

10. Partnership deed.
a)‘K@vog‘cﬁoé RNeIAY



(DBCO13)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, JUNE 2022.

First Year
INDUSTRIAL ORGANISATION AND MANAGEMENT

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Role of SEBI in regulating capital market.
BoTeEsH D78),65 dooBens” SEBI Goog); do®.

2. Significance of planning.

DO P00,

3. Define Business, Industry and Commerce. State the inter-relationship among them.
DgE80, IBED 0BATw ms%&gmo DBID0D, T°6 0655 Ko 30020065500 IHB80H0E.

4. Define the terms memorandum of association and articles of association. Write the

differences between them.
Eond X)o@@vo“até B0 2BA FonD DADITIVOR DYDY, €8 Bokoed gy Ko
5BV DHBoDOE.

5. Explain the comparative study of Public and Private sectors of industry.
0“3225 085w L'Qﬁw 8ol BB BoOTERE 58300 9980H0&.

6. Define stock exchange. Write the functions.

%’g 802 DEGDOD, DGV 0EIHDSDOE.

7. Significance of management.

DIDO0LD Rr009)55.
8. Define the term organisation. Write the requisites of an efficient business
organisation.

DS HFIPDI0 DEID0Y, @98 DBHoBHOM® DBoDT08 SREISION DPOLIIBD0G.
& ® )



(DBCO14)
ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, JUNE 2022

First Year

QUANTITATIVE TECHNIQUES —1
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

Functions of statistics.

Ke?oé%f’go DN

Features of a good table.

2009 S oFgTe.

Merits of arithmetic mean.

908 mégmo foe3ren

Necessity of diagrams in statistics.
Hewo¥TRoS” DB Hero e35855®
Uses and limitations of range.
;5°§)n &IBITTRD, HBIBHIOD
Objectives of Regression analysis.
(SARR0D 3);%329 éé%f’ém
A.P.;G.P.and H.P.

0908 BG DR , T8 6

Process of multiplication of matrices.

S0 Q8O 0e5°8 (80%.



(DBCO14)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, JUNE 2022

First Year

QUANTITATIVE TECHNIQUES —1
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

1. Find out mode from the following data.

(808 S@R050 M00E 2RISR SN0t

Marks : 0-10 10-20 20-30 30-40 40-50 50-60 60-70
(Bo°80),e0)
Students 6 8 12 14 10 8 2
(:)w"édé)oo)

2. Compute Rank correlation from the following data :
8o &SeroBo Mvods T°050 SIPR0eI05°Y E0RTH08.

X 100 120 125 80 75 150 160 125 140 80

Y 8 75 85 90 98 100 85 120 85 30

3. Two cricketers have shown in following runs in 10 innings. Find out who is more
consistent player.

BES 8365 eseorren 10 wR)0r00S” (808 SEHOKR BITE. DB KD ;p)déogo EORD
e300rE° B©)0G.

A 40 35 80 100 20 50 65 72 70 80
B 25 30 90 60 28 40 120 55 40 38

4. Distinguish between primary data and secondary data. What are the sources of
collection of primary data?

rE0E $TP050, BIHAH $T0%0 © K5 Ho BEBI? (D¢ ST050 WEBL Ko dIE
LTSGR BYOG.

5. Define correlation and explain different types of correlation.

D3°B02206°R)) AEGDOD V02050 S5O de)oé.



6. What is a matrix? What are various types of matrices? Explain them with examples.

J0°|QF RTRA? I 8570 HHEBY? &TrTEend” 9980908,

7. From the following data find out Bowley’s coefficient of skewness.
808 &Tr0%0 008 FIPHRg HHES R SRRTH0E.

x 0-20 20-40 40-60 60-80 80-100 100-120
f 10 12 14 10 9 5

8. Find out arithmetic mean and median from the following data.

8o &SeroBo Mvods @OERELIITRY, J0e5TRYy EORTH0E.

Wages @®%~ce0) No. of workers (59=°8 éogpé)

Above (P%) 0 120
Above (3%)10 115
Above (a°) 20 100
Above (%) 30 75
Above (P%) 40 40
Above (PX) 50 25
Above (P%) 60 10

9. In a market research survey 500 consumers were interviewed. It was found that 350
consumers liked product A and 275 liked product B. What is his least number that
must have liked both A and B

a8 D5 HBFEH JEST 500 2008 IVPHEWOLH DopBowe 350 %008
DOBIHEED 00 A D0 0wPdHen 275 2008 B 530000 anghcoey 8dord. A,

B &30 30t H30:9000° angdt 978 8953 Sogg de)oék.

2 -1 3
10. Find the inverse of a matrix A =0 1 -1
1 1 -1
2 -1 3

A 5778 B, DS IR ERTwod A =0 1 —1].
1 1 -1



